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PROGRAM TEST; 
const max_Row=100; 
const max_Column=13; 
TYPE matrix=ARRAY[1..max_Row,1..max_Column] OF INTEGER; 
 
PROCEDURE RE(var a:matrix;n,m:integer); 
var i,j,k:integer;   ok:boolean; 
begin 
 
for i:=1 to n do 
begin 
ok:=true; 
for j:=1 to m+1 do 
begin 
if ok then 
begin 
writeln('enter thn number students ',i) ; 
readln(a[i,j]);    k:=a[i,j]; 
end 
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else begin 
writeln('enter the grad student,number is ',k,' number grad ',j-1); 
readln(a[i,j]); 
end; 
ok:=false; 
end; 
end; 
end; 
procedure print(a:matrix; n,m:integer); 
var i,j:integer; 
begin 
for i:= 1 to n do 
begin 
for j:=1 to m+1 do 
begin 
write('':3,a[i,j],'':3); 
end; 
writeln; 
end; 
end; 
 
procedure  ps( a:matrix; n,m:integer; number_std:integer); 
 
var i,j,k:integer ; 
begin 
for i:=1 to n do 
if a[i,1]=number_std then 
begin 
k:=i;  break; 
end; 
for j:=2 to m+1 do 
writeln(a[k,j],';'); 
end; 
function sumstugrds( a:matrix;n,m:integer;number_std:integer):integer; 
var i,j,k,s1:integer; 
begin 
s1:=0; 
for i:=1 to n do 
if a[i,1]=number_std then 
begin 
k:=i; 
break; 
end; 
for j:=2 to m+1 do 
s1:=s1+a[k,j]; 
writeln; 
sumstugrds:=s1; 
end; 
function avgstugrds(var a:matrix;n,m:integer;number_m:integer):real; 
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var i,j,k,s1:integer; 
begin 
s1:=0; 
for i:=1 to n do 
s1:=s1+a[i,number_m+1]; 
avgstugrds:=s1/ (n); 
end; 
procedure sumallstugrds(a:matrix; n,m:integer); 
var i,j,s1:integer; ok:boolean; 
begin 
s1:=0; 
for i:=1 to n do 
begin 
ok:=true; 
for j:=1 to m+1 do 
begin 
if ok then 
write(a[i,j],':') 
else 
s1:=s1+a[i,j]; 
ok:=false; 
end; 
writeln(s1); 
s1:=0; 
end; 
end; 
procedure sortstugrds(var a:matrix;n,m:integer); 
var i,j,k,temp:integer; 
begin 
for i:=1 to n-1 do 
for j:=i+1 to n do 
if a[i,j-1]>a[j,i] then 
for k:= 1 to m+1 do 
begin 
temp:=a[i,k]; 
a[i,k]:=a[j,k]; 
a[j,k]:=temp; 
end; 
end; 
function search(mat:matrix;n,number_std:integer):boolean; 
var ok:boolean; i:integer; 
begin 
ok:=false; 
for i:=1 to n do 
if(mat[i,1]=number_std) then 
begin 
ok:=true; 
break; 
end; 
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search:=ok; 
end; 
VAR mat:matrix; 
n,m,number_m,number_std:INTEGER; 
begin 
writeln('please enter number of students<= ',max_Row); 
readln(n); 
writeln('pleas enter the number of report<= ',max_column); 
readln(m); 
RE(mat,n,m); 
print(mat,n,m); 
sumallstugrds(mat,n,m); 
readln(number_m); 
if(search(mat,n,number_m))then 
writeln(avgstugrds(mat,n,m,number_m):6:2) 
else 
writeln('not found number student in array'); 
readln(number_std); 
ps(mat,m,n,number_std); 
sortstugrds(mat,n,m); 
print(mat,n,m); 
readln; 
end. 
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PROGRAM TEST; 
const max=300; 
var nphone,i:integer; 
mat:array[1..max] of integer; 
function calculatenblines  (nphone:integer):integer; 
begin 
calculatenblines:= nphone  *( nphone  -1) div 2; 
end; 
procedure printnetwork(nphone  :integer); 
var i,j:integer; 
begin 
for i:=1 to nphone  -1 do 
for j:=i+1 to nphone  do 
begin 
writeln(' line ',mat[i],' to ',mat[j]); 
end; 
end; 

  Line 1 to 2 
  Line 1 to 3 
  Line 1 to 4 
  Line 2 to 3 
  Line 2 to 4 
  Line 3 to 4 
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begin 
readln(nphone); 
for i:=1 to nphone do 
mat[i]:=i; 
writeln(calculatenblines(nphone  )); 
printnetwork(nphone); 
readln; 
end. 
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PROGRAM TEST; 
procedure triples(n:word); 
var a,b,c,count:integer; 
begin 
count:=0; 
for a:=3 to n do 
for b:=3 to n do 
for c:=3 to n do 
if( a<=b) and (b<=c)then 
begin 
if sqr(a)+sqr(b)=sqr(c) then 
begin 
writeln(a,'  ',b,'  ',c); 
count:=count+1; 
end; 
end; 
writeln('count= ',count); 
end; 
var n:integer; 
begin 
readln(n); 
triples(n); 
readln;    end. 
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PROGRAM TEST; 
function fact(n:integer):integer; 
var r,i:integer; 
begin 
r:=1; 
for i:=1 to n do 
r:=r*i; 
fact:=r; 
end; 
function pow(x:real;n:integer):real; 
var i:integer;r:real; 
begin 
r:=1; 
for i:=1 to n do 
r:=r*x; 
pow:=r; 
end; 
function CalApproxSin(x:real):real; 
var s:real; i,counter:integer; 
begin 
if(x=0)then 
begin 
CalApproxSin :=0; 
exit; 
end; 
counter:=1; 
s:=0; 
i:=1; 
while(true)do 
begin 
if counter mod 2<>0 then 
s:=s+pow(x,i)/fact(i) 
else 
s:=s-pow(x,i)/fact(i); 
i:=i+2; 
counter:=counter+1; 
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if sin(x)-s>=0.000001 then 
break; 
end; 
CalApproxSin:=s; 
end; 
var x:real; 
begin 
readln(x); 
writeln(CalApproxSin(x):6:2); 
writeln(sin(x):6:2); 
readln 
end. 
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